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Derivative Review
1. What's the difference between average rate of change and instantaneous rate of change?
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4, The position of an object is gwen y §= 3t —4t+ 6. Whatis the average velocity over the

interval [1, 4]? T
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5. Given the position of a function F(x) =2x" —3x” + 7, what is the instantaneous rate of change
of F? . -
F00= bx*-lbx
6. Given the position of a function s = t* —2t+3, what is the instantaneous rate of change at t=27?
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For 7-8, use the formal (limit) definition of the derivative the find the derivative

7. J(x)=+3x -1 8. f(x)=3x"—4x
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fd= 3! - =Y
12. Findf(x)forf(x)———8x+1 13. If f(x)= J_ find f(8)
Fly= -3y ~B—_—— PI)= 2,7 = ﬂ—
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14, For /(x)=x" +3x" =2 find (x), f(x), f"(x) and F¥(x)
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Find the derivative of the functi 4
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£'x)= Bxsinx + W cosX
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20. f(x)= (1+J_}(——2I) PRODUCT RULE
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Find f'(1) for each function | /
2. f(1)=(r-5x+l12+2v-v)  PRoDUCT RULE

W=5 2-3x*
)= x-gfitax-) + (2-3) b*-akH)
£0)= (219-8) (rrzt)-ty) + 23U -l 1)
£2)13) + (-3)-1) = C3y)

27. f(x}=lfc2 dhigh = 3—;173
dbw= 2y
Py = () (gm) - X% (o)
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